GUIDE D'’ASSEMBLAGE
ASSEMBLY GUIDE O%%

11003979

A B c D E F G
e ISR = (D000
14 MM M5 X 40 MM 12 MM
X14 X14 X10 X24 X12 X1 X4
H J K L M N 0
() @) S0 ? _ @ %
M6 X 25 MM M6 X 12 MM M4 X 22 MM
X8 X14 X14 X5 Xi X4 X2
P Q
X4 X4

O x O x3
\

O x 0O x (7 R4 O x
— <

O xi (11 94 D x2 ® xi

] = <>

CARMTEE MISES EN GARDE : Assurez-vous d'avoir toutes les piéces en main. Manipulez les piéces et les outils avec soin. Assemblez le produit
an sur une surface plane et propre.
year

WARNINGS: Make sure you have all the parts in hand. Handle parts and tools with care. Assemble the product on a clean, flat surface.



UTILISATION
DU RACCORD
A CAME

HOW TO USE
CAM LOCK

VISSEZ COMPLETEMENT I
SCREW COMPLETELY

) _
>
100%8 X
>
»

VISSEZ COMPLETEMENT
SCREW COMPLETELY

&k
100%)
>
»



UTILISATION
DU RACCORD
A CAME

HOW TO USE

CAM LOCK

VISSEZ COMPLETEMENT
SCREW COMPLETELY ‘

X8

VISSEZ COMPLETEMENT
SCREW COMPLETELY

\‘
100%)) X
>
»






VISSEZ COMPLETEMENT
SCREW COMPLETELY

~§-
100%, =
>
»x

&

[

@)

e
N

iY

X

VISSEZ PARTIELLEMENT

SCREW PARTIALLY

LN

50%)8 X
>
»



t (4,
35 s$>

VISSEZ COMPLETEMENT LES
PIECES DES ETAPES 8 ET 10.

COMPLETELY
FROM STEPS 8 A
100%

8

0

X
X2

(@)

) @@

H

S

-



o



S

X4

G

(s poomno>

I

VISSEZ COMPLETEMENT
SCREW COMPLETELY

h-k
100%)
>
»

®

CHARGE MAXIMALE
MAXIMUM LOAD :

22LB (10KG)

Y
I

AJUSTEZ LES VIS
ADJUST THE SCREWS

CHARGE MAXIMALE
MAXIMUM LOAD:

110 LB (50 KG)

CHARGE MAXIMALE
MAXIMUM LOAD :

22 LB (10 KG)




